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6. Determine the value of # to the nearest degree.
a) cot @ = 3.2404 c) sec § = 1.4526
b) cscf = 1.2711 d) cot# = 0.5814
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11. A kite is flying 8.6 m above the ground at an angle of elevation of 41°.
B Calculate the length of string, to the nearest tenth of a metre, needed to fly

8 b N
n

the kite using
a) a primary trigonometric ratio
b) a reciprocal trigonometric ratio

a) SINH = 8 6
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12. A wheelchair ramp near the door of a building has an incline of 15° and a
run of 7.11 m from the door. Calculate the length of the ramp to the nearest
hundredth of a metre.

_ 71l =
> |5°

— ?’” F |l an
cosS IS </§




4.10 Acute Triangles.notebook

13. The hypotenuse, ¢, of right A4BCis 7.0 cm long. A trigonometric ratio for B

7] angle A is given for four different triangles. Which of these triangles has the ’;— o
greatest area? Justify your decision. - o\'\
a) sec A= 17105 ¢ cscAd= 22703 3
b) cosA = 0.7512 d) sinA = 0.1515 'j
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